Gary Miller

Intermediate Stand Management Questions & Answers

Stand Management of Existing Stands

There were a few questions to come up. The first one dealt with the difference between ring porous woods and diffuse porous woods and their susceptibility to girdling. And I did some Google searching and it's a little amazing that I found 3 or 4 references that would be helpful to you, and I gave you what I think is the best one. Turns out, it's an appendix out of one of Arlyn Perky's crop tree books. I know that book very well. I was one of the reviewers, and it just had escaped me, because in the section, he's talking about creating snags for wildlife-killing a tree and letting it stand for wildlife purposes. But in there, using his own experience, he has a very nice description of why diffuse porous woods are not susceptible or as susceptible to girdling compared to ring porous woods. There's a list in here that indicate which species are which on page C4. Ring porous woods include black locust, sassafras, elm, ash, oak, hickory. He footnotes here that bitternut hickory is also a semi-ring porous, but the others are ring porous. Chestnut, coffeetree, whatever. Diffuse porous woods include maples, beech, blackgum, yellow poplar, and some others, so here's the explanation in a nut shell. Ring porous woods, when water comes from the root system to the crown, and to conduct photosynthesis-of course, they need light and water and carbon dioxide-the water along ring porous woods runs right along the outer section of the bowl, very near the surface. So when you girdle the tree, you essentially cut off that water immediately, and the crown doesn't receive water and the tree dies a lot faster than a diffuse porous would. This might only go into say the current year's growth or maybe the first ring inside the current year's growth. In diffuse porous woods, this water can be pumped up to the leaves in several years' growth. Maybe that the current year and maybe in the 2, 3, or maybe the 4th year, would. And it's way in side, so in other words, you can make this girdle and cut off the water out here, but you have not cut off the water that's still traveling up the wood unless you make a fairly deep cut. And Arlyn says in here, I'd have to find the quote, but he says that it's a lot of work to make a cut that deep. That's why people prefer to use chainsaws and double girdles, because rather that wearing their arm out making a cut deep enough, they can go around the tree with a saw and make that cut and cut off the water at a deeper point. The trouble is, and he says that in here, if you make the cut too deep, you create a hinge, and the tree can break off and fall, and then the section on creating snags for wildlife, the whole point is you don't want the tree to fall over, you want it to stand there dead, and you want it to be a wildlife feature. So that was one question. And I hope I helped you there. The other question we had was about why is our little ax for hack and squirt, why do we grind the bit down? It used to be yay wide, maybe 3 inches wide. We ground it down from an inch and three quarters. It essentially in the same way line of thinking here is this idea of girdling. Except now we're trying to get a chemical, a mixture of water and a water-soluble chemical, into the tree's vascular system. When we use this narrow blade with about a three quarter swing, we create this little rectangular pocket that's in the wood. I've drawn it here in an angle. And that way when we squirt the chemical in the blade and it runs down into that pocket, it can't get out of the pocket. Then it can be translocated down to the roots and up to the crown, if that's the mode of action. But if we had a wider blade, and we hit the tree, only part of the incision would be deep. The other parts would be shallow, because it's sort of C-shaped, and it would give it an avenue for the chemical to run out. This is sort of like a little pocket that the chemical sits in that's much more effective. Another reason the inch and three quarters, since you're going to space the incision ever inch and a half, this makes a nice mathematical computation that you'll have a number of incisions equal to the DBH of the tree. And 8-inch tree would get 8 hacks. I did the 2 pi r for the formula for the circumference for a circle, and it works out that yes, for every inch of DBH, you have one hack spaced every 1 and a half inch apart. So that's the answer to those two questions. Now the reason we did it this way, the videographers are able to cut and paste. They can cut that explanation out and stick it back into where it belongs in Tuesday's. I actually have the same shirt on. 

